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PTOJECT # 241230 .;~·- ·-~~~ 

.~:~.~!" -:::. ... ~i::. 
EVALUATE SAFETY OPERATION M/710 
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GUN# iSAFETYOFFTO ON I 1 - i 2 ; 3 _i 4~11..~.:;1;:1'"6 ! 7 : 8------g- 1_Q_j_ AVG f ST. DEV. 

~~~iii~ti~f~~i'iI~~~~~1~1=~;j1~i~ 
~GUN# !SAFETY OFF TO ON I 1 ! 2 J 3 : 4 ! 5 >!fc· 6 ;c,;4iiii\" 8 9 10 I AVG I ST. DEV. 

23 : BOLT OPEN- 3.035 ! 3.165 ! 3.180 : 3.17.Q_J 3.185 I 3.t.QCi\rl\\1.200 r~.s.160 3.165 3.180 !-~ 

isAFETYONTOOFF1 1 l 2 i 3 i 4 ; 5 I 6 i 7!~1-.i 8 ._,·.79 ,_.-W- 1 AVG IST.DEV. 
; BOLT OPEN I 3.140 i 3.185 .L 3.120 : 3.160 : 3.115 I 3.160 : 3.135''<.fi'D~~- 3.110. .. 3.190 ! 3.144 I 0.029 
!SERIAL It 71135999 NOTE : CAN POSITION Sl'-FETY AT INTERMEDIATE POINT. 

I~iiiii~;~~-~~f~ij~~J~fi~~i~;~~li~ 
GUN# !SAFETY OFF TO ON I 1 i 2 _J.___3 __ : 4 i 5 6 7 8 9. '~ 10_,i/t;.1'.>"" AVG I ST. DEV. 

24 ! BOLT CLOSED r 7.635 ! 7.665 l 7.465 i 7.4~ 7.705 7.575 ! 7.615 i 7.630 7.?:WJ"~'T',665" ! 7:;.624 -~ 
:sEFllAL # 71135999 I : ! ! : I , ; . 

=~!1~iiii~~-~~f ~~~t~~~~~~~~r--··--
;.~~·i~x~'!~~E.~J.~?~~~:·9-~T--:~]~~-::r-~:i~~:·:.r:~~~i~:·-:-~:-:~~~~~:-:r=:i;~~l~~-~~;1~~t~i:~1--~:~~~~:--~ ::.-~~Ni~- -~~~~1~~;;!·;~:;~~~~~-~~~~v~ 

!SERIAL#71135891 J ~ ' . ' 

·i-=-c==co-=~=-c=-=~·L---~~:-~--+~-~---·~-+----+-c-.....;-.--,,,--1--,.----+---r-
GUN # : SAFETY ON TO OFF I 1 : 2 3 4 5 I 6 : 7 i 8 9 10/ AVG_ L S'l:. DEV. 

____ 2_s. ___ ·----~.9.L.:r_cLO~§Q... 
1 

__ 3.~00 .: 3.!~ 1__3,180 __ 3.245 _. 3.2~5 1 _3.145 ;. 3.165_, _3·:?9-~ -~,!~§ __ 3.170 t ---~j~,,_,_ .. 1" ___ o .. ~~-

~~~i£'i;f if.\iJL~1~~j.;i~::·•;;;_j1~J~~&a;~J=;~: ·:tt~- ~:.li~~~ 

TRACKING# TLW1292 
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